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Student No. :
ELEE 2300 Circuit Analysis
Fall 2001
Exam 2

Saturday, November 10, 2001

DO NOT OPEN THIS EXAM BOOKLET UNTIL
INSTRUCTED TO DO SO

This exam has 9 pages including this cover page. If you are missing any pages,
raise your hand. You have 90 minutes to complete the exam.

Notes

1. Be sure your name and signature appear above.
2. The exam is open book and open notes.

3. To receive full credit for a problem, you must:

o Show all work necessary to solve the problem;

e Write clearly and legibly,

* Indicate clearly whether power being calculated is absorbed or delivered,;
" Define all variables and parameters and label them on circuit diagrams;

o Show all units explicitly in intermediate steps as well as final solutions;

® Use the proper notation for all variables.

1 /22

2. /30
3. /30
4. /18

Total - /100



[image: image2.png]1 22 points For the circuit shown, write a set of independent equations that could
be used to solve the circuit using the mesh current method. Do not try to :
simplify the circuit or solve the equations. Be sure all quantities used in your

equations are defined in the circuit. No credit will be given if the mesh current
method is not used.
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[image: image4.png]2. 30 points For fhe circuit shown find the Thevenin equivalent circuit with
respect to terminals (a) and (b). Draw the Thevenin equivalent circuit. On the

drawing, clearly show the terminals (a) and (b), the value of the circuit elements,
and the reference voltage for the Thevenin voltage source.
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[image: image10.png]4. 18 points For the circuit shown in the figure, the switch SW1 was closed for
along time. Att= 0, the switch opened and remained opened. Find the voltage
ve(t) for t > 0.
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